ISO 21090 Datatypes Guide

Modules can be loaded from XML.

This is the guide to put in data-types of collections we need to know.

ISO BL - Boolean

150 DataTypes

context HXIT
.| def: let noHistory : Boslean = valid Timel and
and
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contiallnformationRaot oclisbefined

context ANY
daf: let isHull : Boolean = nullFlavor.ocllsDefined

def: lat sNothull - Baol

NullFlawor STH
im0 ANY unless nullFlavored": (sNotHull of invalid) impliss not oclsTyp eDRANY)
o
s
| invvatue f not nullFtavored: sNothull implies walus.oclsDafined
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% serly:BL . N
+ imples(BL): BL SUSURRR bl

) imr BN cannot bs nulF: notisull

<exanpl e xsi:type="BL" val ue="true"/>
<exanpl e xsi:type="BL" nullFl avor="UNK"/>

ISO ED - Encapsulated Data

classED /
ED
+ chamet :Code [0.1]
+ compression Compresson [0..1]
+ data :Binary [0.1] HXIT]
+ descrption ST [0..1] ANY
+ integntyCheck Binary [0.1]
. ¢ ithm -IntegrityC ithm [0..1] + favorld :Strng [0..1]
+ language :Code [0..1] L |+ nulflawr Nullflavr(o. 4]
+ mediaType :Code [0.1] = text/plain + updatellode :Updatel ode [0..1]
+ rference TELURLD.1]
+ thumbnail ED [0..1] = equalsiAlY) BL
+ tansation :SetED) - isNull( ‘Boolean
- alue Sting +_nonNull) :Boolean

+ aml XML 0.1]

+ canonical) :Binary

<val ue xsi:type="ED' nedi aType="i nage/j peg">
VGhpcyBza®@1bGQyYnmUgYSBKUECgRM sZSAoYnVOI G zbi dOI GZvei BzaWwlwbd j a

XR5! @M HRoZSBl eGFt cGxl KQ==
</ val ue>

<exanpl e xsi:type="ED' value="this is plain text" nedi aType="text/plain"
/>

<exanpl e xsi:type="ED' value="this is plain text" />

<exanpl e xsi:type="ED' flavorld="ED. TEXT" value="this is plain text"
| anguage="en" medi aType="text/plain" />

<exanpl e xsi:type="ED' flavor|d="ED. TEXT" val ue="di eses i st normal er
Text" | anguage="de" nedi aType="text/plain" />

11SO BL - Boolean

2 1SO ED - Encapsulated Data
3 ISO ST - Character string
41SO SC - coded string
51S0 CD - Concept
Descriptor Type

6 ISO CS - Coded Simple
71SO TEL -
Telecommunication Address
8IS0 Il - Instance Identifier

9 1SO AD - Address

10 ISO EN - Entity Name

11 1SO CO - Coded Ordinal
12 I1SO REAL - real

13 I1SO RTO - Physical
quantity interval

14 1SO PQ - Physical Quantity
15 ISO MO - monetary amount
16 ISO TS - TimeStamp

17 1SO Collection Datatypes
18 ISO DSET - discrete set
19 ISO BAG - bag

20 ISO LIST - Sequence

21 ISO GLIST - generated
sequence

22 ISO SLIST - sampled
sequence

23 1SO HIST - history

24 ISO QSET - Continuous
set datatypes

25 ISO IVL_QTY - Interval

26 ISO IVL_INT - Integer
Interval

27 1SO IVL_PQ - Integer
Interval

28 1SO IVL_TS - Timestamp
Interval

29 1SO PIVL - Periodic Interval
30 ISO EIVL - Event-Related
Periodic Interval of Time

31 ISO Uncertainty datatypes
32 1SO UVP - Uncertain value
- probabilistic

33 1SO NPPD - Non-
parametric probability
distribution



<exanpl e xsi:type="ED' value="this is plain text" |anguage="en">
<translation xsi:type="ED' val ue="di eses i st normaler Text" |anguage="de"
/>
</ exanpl e>

<exanpl e xsi:type="ED' value="this is plain text" |anguage="en-ca">
<translation xsi:type="ED' value="ce ci est du texte non structuré"
| anguage="fr-ca" />
</ exanpl e>

<exanpl e xsi:type="ED'>
dChpcyBpcyBi aWbhcnkgY29udGVudA==
</ exanpl e>

<exanpl e xsi:type="ED' charset="UTF-8">
dChpcyBpcyBi aWwbhcnkgY29udGVudA==
</ exanpl e>

<aED | MACGE xsi:type="ED"' nedi aType="i mage/j pg">
<ref erence val ue="http://ww.tenpuri. org/ XXXXXXXXXX" [ >
</ aED_| MAGE>

<aED | MACGE xsi:type="ED' nedi aType="i mage/j pg" conpressi on="GZ">
<ref erence val ue="http://ww.tenpuri. org/ XXXXXXXXXXX" />
</ aED_| MAGE>

<aED_TEXT xsi:type="ED' nedi aType="text/xm ">

PHBhcmVudD4NGI AgPGNoaWkk Pl RoaXMyaXMgc29t ZSBOZXhO0Il G ul
HRoZSBj ad@ sZDw Y2hpbGQ+

DQogl FRoaXMgaXMgc29t ZSB0ZXhOI G ul HRoZSBwWYXJ! bnQNG wc G
FyZWs0Pg==

</ aED_TEXT>

<aED _TEXT xsi:type="ED' nedi aType="text/xm " charset="ASCl|">

PHBhcmVudD4NCi AgPGNoaWkk Pl RoaXMgaXMgc29t ZSB0ZXhOI G u
| HRoZSBj ad sZDw Y2hpbGQ+

DQogl FRoaXMyaXMyc29t ZSB0ZXh0l G ul HRoZSBwYXJ

I bnQNG) w e GFyZWb0Pg==

</ aED_TEXT>

<aED TEXT xsi:type="ED' nedi aType="text/xm ">
<xm >
<par ent >
<child>This is sone text in the child</child>
This is some text in the parent
</ parent >
</ xm >
</ aED_TEXT>



<exanpl e xsi:type="ED' nedi aType="application/pdf" conpression="G&">

/ 9j 1 AAAQSKkZI RgABAgEAGACAAADI 2WCEAAI CAgl C

AQ CAgl CAgl CAWQDAWVDAWUEBAMEBg YHBgYG

Bg YHCAoI Bwe J BWYGCAs J CQo KCws L Bwg VDQAKDAoLCwoBAg! C
AWVDBQVDBQo HBgc KCgoKCgoKCgoK
CgoKCgoKCgoKCgoKCgoKCgoKCgoKCgoKCgoKCgoKCgoKCgoKCgo
KCv/ AABEI Ag4CuQVvBI QACEQED

EQH xAG AAABBQEBAQEBAQAAAAAAAAAAAQH DBAUGBWYJ Cgs BAAM
BAQEBAQEBAQEAAAAAAAABAGVE

BQYHCAKk KCx AAAGEDAWM EAWUFBAQAAAFIAQ DAAQRBRI hMUEGELF
hByJxFDKBKkaEl | 0KxwRVSO0f Ak

C gA00AKKACH gA00AKKACH gA00AKKACH gAo0AKKACH gAo0AKKAC
gA00AKKACH gA00AKKACH gAoo

AKKAC gA00AKKACI gA00AKKACH gAo0AKKACH gA00AKKACH gAooAK
KAC gA00AKKACH gA00AKKAC

gA00AKKACH gA00AKKACH gA00AKKACH gAooAKKACH gA00AKKACH gA
00AKKACI gA00AKKAP/ | Z

</ exanpl e>

<aED_| MAGE xsi:type="ED' nedi aType="i mage/ png">
<reference val ue="http://exanpl e. org/ xrays/ 128s8d9ej 229se32s. png" >
<useabl ePeri od xsi:type="IVL_TS">

<l ow val ue="200007200845" />

<hi gh val ue="200008200845" />

</ useabl ePeri od>

</reference>

<integrityCheck>

EQH xAG AAABBQEBAQEBAQAAAAAAAAAAAQ DBAUGBWYJ CgsB
AAVBAQEBAQEBAQEAAAAAAAABAGVE

</integrityCheck>

<t hunbnai | medi aType="i mage/j peg" >

1 9j | AAAQSkZIRgABAgEAgACAAAD! 2WCEAAI CAgl C

AQ CAgl CAgl CAWQDAWVDAWUEBANEBg YHBg YG

Bg YHCAo| Bwe J BWwYGCAs J CQo KCws L Bwg MDQAKDAoLCwoBAg! C
AWMVDBQVDBQoHBgc KCgoKCgoKCgoK
CgoKCgoKCgoKCgoKCgoKCgoKCgoKCgoKCgoKCgoKCgoKCgoKCgo
KCv/ AABEI Ag4CuQVvBI QACEQED

EQH xAG AAABBQEBAQEBAQAAAAAAAAAAAQ DBAUGBWYJ Cgs BAAM
BAQEBAQEBAQEAAAAAAAABAGNE

BQYHCAk KCx AAAg EDAW EAWUFBAQAAAF9AQ DAAQRBRI hMUEGELF
hByJxFDKBkaEl | OKxwRVSOf Ak

C gA00AKKACH gA00AKKACH gA00AKKACH gA00AKKACH gA00AKKAC
gA00AKKACH gAo0AKKACH gAoo

AKKAC gA00AKKACH gA00AKKACH gA00AKKACH gA00AKKACH gAooAK
KAC gA00AKKACI gA00AKKAC

gA00AKKACI gA00AKKACH gA00AKKACI gAooAKKACH gAo0AKKAC gA
00AKKACI gA00AKKAP/ / Z

</t hunbnai | >
</ aED_| MAGE>

ISO ST - Character string



class ST ,/

ST

+

language :Code [0..1] R
+ transgation SetiST NT ANY
+ value :String [0..1]

concal(ST) ST —D

mediaType( :Sting

I

flavorld :String [0..1]
nullFlaver :NullFlavor [0..1]
updateM ode :UpdateMaode [0..1)

+ o+

B

sze() :INT

subgning(INT, INT) -8T| + equalsiANY) ‘BL
tolnteger)) (INT + ishull() ‘Boolean
toReal() ‘REAL + nonhull() ‘Boolean

toTimestamp() TS

<val ue xsi:type="ST" val ue="Exanpl e ST. Make sure that the HL7 delineters
are escaped properly, they are |, ~ *, & \."/>

<exanpl e xsi:type="ST" value="This is sonme content" validTi meLow="
200506011000" val i dTi meH gh="200507031500"

control I nformati onRoot="1.2.3.4.5.6">

</ exanpl e>

<exanpl e xsi:type="ST" |anguage="en" value="cellulitis of the left foot"/>

ISO SC - coded string

s5C

+ code: CD[D..1]

J

5T

+ langusgs: Cade [0..1]
+ translation: Set(ST.MT)
value: Strng [0..1]

media Type() : String
size() : Integer
concat(ST): BT
substring(INT, INT): 5T
tolnteger() : INT
toRealj : REAL

— t:-Timeats mp{) : TS

A I

<exanpl e xsi:type="SC' val ue="Intestinal nenatode infection">
<di spl ayName val ue="Intestinal nematode infection (disorder)"/>

</ exanpl e>

<exanpl e xsi:type="SC' val ue="Lung nemat ode infection"/>

ISO CD - Concept Descriptor Type



co

String [0..1]

ANY

+ flavorld :Sting [0..1]
or :NullFlaves [0..1]
de :Updatehbode [0..1]

'
Fl
g
o
)

isplayName ST [0..1]
riginal Text :ED.TEXT [0..1]
CD"[0..1

>

equals(ANY) :BL
isMull() :Eoclean
nonhullf] :Beolesn

+

+

=

<exanpl e xsi:type="CD' code="784.0" codeSystenr"2.16.840.1.113883.6.42">
<di spl ayNane val ue="Headache" />
</ exanpl e>

<exanpl e xsi:type="CD' code="784.0" codeSysten="2.16.840.1.113883.6.42">
<di spl ayNane val ue="Headache" />

<ori gi nal Text null Flavor="NI" />

</ exanpl e>

<exanpl e xsi:type="CD' code="784.0" codeSysten¥"2.16.840.1.113883.6.42">
<di spl ayNane val ue="Headache" />

<translation null Flavor="NI" />

</ exanpl e>

<exanpl e xsi:type="CD' code="784.0" codeSystenr"2.16.840.1.113883.6.42">
<di spl ayNane val ue="Headache" />

<translation nullFlavor="NI" codeSystem="2.16.840.1.113883.6.96" />

</ exanpl e>

<exanpl e xsi:type="CD' code="784.0" codeSystem="2.16.840.1.113883.6.42"
codeSyst emNanme="1| CD- 9" >

<di spl ayNane val ue="Headache" />

<ori gi nal Text val ue="general headache" />

</ exanpl e>

<exanpl e xsi:type="CD' code="(44.1" codeSystem="2.16.840.1.113883.6. 3"
codeSyst emNane="1CD- 10" >

<di spl ayNanme val ue="Headache" />

<ori gi nal Text val ue="general headache" />

</ exanpl e>

<exanpl e xsi:type="CD' nullFlavor="N"/>

<exanpl e xsi:type="CD' null Fl avor="0OTH' codeSystem="2.16.840.1.113883. 6. 96"
/>

<exanpl e xsi:type="CD' null Fl avor="OTH"' val ueSet ="
2.16.840.1.113883. 19. 11. 1" val ueSet Ver si on="20070711" />

<exanpl e xsi:type="CD"' null Fl avor="OTH' codeSystenm="2. 16.840. 1. 113883. 6. 96"
>

<ori gi nal Text value="Burnt ear with iron. Burnt other ear calling for

anmbul ance" />

</ exanpl e>



<exanpl e xsi:type="CD' code="burn" codeSystenr"2.16.840.1.113883.19.5.2">
<ori gi nal Text value="Burnt ear with iron. Burnt other ear calling for

anmbul ance" />

</ exanpl e>

<exanpl e xsi:type="CD' code="Al10.1" codeSystenm="2.16.840.1.113883.6.42">
<ori gi nal Text value="Burnt ear with iron. Burnt other ear calling for
anbul ance" />

</ exanpl e>

<exanpl e xsi:type="CD' null Fl avor="OTH" codeSyst en&"
2.16.840.1.113883. 6. 96" >

<ori gi nal Text value="Burnt ear with iron. Burnt other ear calling for
ambul ance" />

<transl ati on code="burn" codeSystem="2.16.840.1.113883.19.5.2" />

</ exanpl e>

<exanpl e xsi:type="CD' null Fl avor="OTH" codeSyst en&"
2.16.840.1.113883.6.96">

<ori gi nal Text value="Burnt ear with iron. Burnt other ear calling for
ambul ance" />

<translation id="s1" code="burn" codeSysten¥"2.16.840.1.113883.19.5.2" />
<source xref="sl1" />

</ exanpl e>

<exanpl e xsi:type="CD' null Fl avor="0OTH"' codeSystenm="
2.16.840.1.113883.6.96" />

<exanpl e xsi:type="CD' null Fl avor="0OTH"' val ueSet ="
2.16.840.1.113883. 19. 11. 1" val ueSet Ver si on="20070711" />

<exanpl e xsi:type="CD' code="128045006: { 363698007=56459004}" codeSyst en¥"
2.16.840. 1. 113883. 6. 42" codeSyst emNane=" Snoned- CT" >

<original Text value="Cellulitis of the foot" />

</ exanpl e>

<exanpl e xsi:type="CD' code="J21.8 B95. 6" codeSystenr"
2.16.840.1.113883. 6. 260" codeSyst enNanme="1CD- 10 Dual Code Expression">
<ori gi nal Text val ue="Staph aureus bronchiolitis" />

</ exanpl e>

ISO CS - Coded Simple

classCS /

HXIT

cs ANY

+

flavordd :String [0..1]
nullFlavor ‘NullFlavor [0..1]
updateM ode UpdateMode [0..1]

+ code Sting [0..1]

|

+

+ codeSysem() :Uid
+ codeSysemVerdon() ST

¥

equalgANY) BL
ishull() :Boolean
+ nonhull() :Boolean

+

<exanpl e xsi:type="CS" code="NS"/>



ISO TEL - Telecommunication Address

cass L)

)
any

constrints
{00 ANY unle null)

< TELWRL =

o TEL U

<exanpl e xsi:type="TEL" val ue="http://ww.tenp. org/ exanpl e/ 234232"/ >

<exanpl e xsi:type="TEL" val ue="tel : +15556755745"

voi ce fax"/>

use="H WP" capabilities="

<exanpl e xsi:type="TEL" null Fl avor="UNK" value="tel:" use="H'/>

<exanpl e xsi:type="TEL" val ue="tel: +1(555)6755745; post d=545" use="WP"/>

<exanpl e xsi:type="TEL" val ue="tel : +15556755745; post d=545" use="WP"/>

ISO Il - Instance Identifier

classil_/

displayable :Boolean [0..1]
extension :String [0..1]

reliability :IdentifierReliability [0..1)
root :Uid[0..1]
scope cldentifierScope [0..1]

ok ok okt

ANY

identifierName :String [0..1] —(>

o+t

flavord :String [0..1]
nullFlaver :NullFlavor [0..1]
updateM ode :UpdateMaode [0..1]

&

T

equalgANY) :BL
isNull() :Boolean
noniull() :Boolean

<exanpl e xsi:type="I1" root

45634353344" reliability="UNV" scope="BUSN'/>

="2.16.840.1.113883. 12. 333" extensi on="

<exanple xsi:type="I11" root="2.16.840.1.113883.4.1" extension="123456789"
reliability="UNV" scope="BUSN'/>

<exanple xsi:type="I1" root="2.16.840.1.113883.2.1.4.1" extension="
9999999484" reliability="VRF" scope="BUSN'/>

<exanple xsi:type="I11" root="1.2.36.174030967" extensi on="1234567892"
reliability="VRF" scope="0BJ"/>

<exanpl e xsi:type="I1" root="D6A7AB37-4220-4D80- 9052- 8A4959A203E3"
reliability="1SS" scope="VER'/>



<exanple xsi:type="I1" root="2.16.840.1.113883.19.5. 34" extensi on="
2345344" reliability="1SS" scope="0BJ"/>

<exanpl e xsi:type="11" root="2.16.840.1.113883.19.5. 462" extensi on="
976295765" reliability="VRF" scope="VER'/>

ISO AD - Address

Shacs Airesses

ADXP

P

+ ype AdsresParTyes 1]

Ay

constrints
[re ANY unlez nul

<exanpl e xsi:type="AD"' use="WP">

<part val ue="1050 W W shard Blvd," />
<part type="DEL" />

<part value="RG 5th floor," />

<part type="DEL" />

<part val ue="Indi anapolis, |IN 46240" />
</ exanpl e>

<exanpl e xsi:type="AD"' use="WP">

<part type="AL" val ue="1050 W W shard Bl vd" />
<part type="AL" value="RG 5th floor" />

<part type="CTY" val ue="Indi anapolis" />

<part type="STA" value="IN' />

<part type="ZIP" val ue="46240" />

</ exanpl e>

<exanpl e xsi:type="AD"' use="WP">

<part type="SAL" val ue="1050 W W shard Bl vd" />
<part type="ADL" value="RG 5th floor" />

<part type="CTY" val ue="Indi anapolis" />

<part type="STA" value="IN" />

<part type="ZIP" val ue="46240" />

</ exanpl e>

<exanpl e xsi:type="AD"' use="WP">

<part type="BNR' val ue="1050" />

<part type="DIR' value="W />

<part type="STB" val ue="Wshard" />
<part type="STTYP" val ue="Blvd" />

<part type="ADL" value="RG 5th floor" />
<part type="CTY" val ue="Indi anapolis" />
<part type="STA" value="IN' />

<part type="ZIP" val ue="46240" />

</ exanpl e>



<exanpl e xsi:type="AD"' use="HP">

<part type="STR' val ue="W ndst ei ner Weg" />

<part type="BNR' val ue="54a" />

<part type="CNT" code="DEU' codeSystem"1.0.3166.1.2" value="D" />
<part type="ZIP" val ue="14165" />

<part type="CTY" value="Berlin " />

</ exanpl e>

<exanpl e xsi:type="AD"' use="WP" nul | Fl avor="UNK"/ >

ISO EN - Entity Name

150 DetaTypes
|
o Encp
EC + qualifer :SeEntipNemeFanOualifier)
+ bpe EntiyNameParType 0. 1] ..

70 ANY unle=snull;

En

+ part Saquence(ENKF) context EN
+ use ‘SetEntityNamelse) inv"null or parts - ishull xor part>iEmpty

6
context ENTH
ENTN :}- inv"gnly ene partwith no fype": isNGtNUIl implies(pat>sze = 1 and part> fra.npe.oolisUnde fined)
EE
= o partsan byLS": pan>ordilp | not . udesfEniNamePartua
ENON  [3]--Joomeenon
= inv o pars are peron fypes': pars> brallp | 1ot {p.type = EntiNameParType FAM orp type = <PaiType GIV])

<exanpl e xsi:type="EN'>

<part type="G V' val ue="Adanm' />
<part type="G V' value="A" />

<part type="FAM' val ue="Everynman" />
</ exanpl e>

<exanpl e xsi:type="EN' use="|DE">

<part type="FAM' val ue=""/>
<part type="G V' value=""/>
</ exanpl e>

<exanpl e xsi:type="EN' use="SYL">
<part type="FAM' val ue=""/>

<part type="A V' value=""/>

</ exanpl e>

<exanpl e xsi:type="EN' use="ABC'>
<part type="FAM' val ue="KI MJRA"/>
<part type="GA V' value="MCH O'/>
</ exanpl e>

<exanpl e xsi:type="EN'>
<part type="FAM' val ue=""/>
<part type="G V' value=""/>
<part type="A V' value=""/>
</ exanpl e>



<exanpl e xsi:type="EN'>
<part type="FAM' val ue="EMELI N'/>
<part type="G V"' val ue="|VAN'/>
</ exanpl e>

<exanpl e xsi:type="EN' use="OR'>
<part type="G V' val ue="Jan"/>
<part type="G V' val ue="Erik"/>
<part type="FAM' qualifier="MD' val ue=" Gstlund"/>
<part type="FAM val ue="Erikson"/>
</ exanpl e>

<exanpl e xsi:type="EN'>
<part type="G V' val ue="Jan"/>
<part type="FAM' val ue="Erikson"/>
</ exanpl e>

<exanpl e xsi:type="EN' use="T">

<part type="G V"' value="Margrete Jente"/>
<part type="FAM' val ue="Hansen"/>

</ exanpl e>

<exanpl e xsi:type="EN' use="OR C'>
<part type="G V' value="Karin" />
<part type="FAM qualifier="MD"' val ue="Hansen" />
<part type="FAM val ue="Erikson" />
</ exanpl e>

<exanpl e xsi:type="EN' use="OR'>
<part type="G V' value="Karin" />
<part type="FAM' qualifier="MD"' val ue="Erikson" />
<part type="FAM' qualifier="SP" value="Berg" />
</ exanpl e>

<exanpl e xsi:type="EN' use="C'>
<part type="GA V' value="Karin" />
<part type="FAM' val ue="Berg" />
</ exanpl e>

<exanpl e xsi:type="EN'>
<part type="G V' value="Peter" />
<part type="G V' qualifier="CL" val ue="Janes" />
<part type="FAM' val ue="Chal ners" />
</ exanpl e>

<exanpl e xsi:type="EN' use="OR'>
<part type="G V' val ue="David" />
<part type="G V' val ue="Wodford" />
<part type="FAM value="Smth" />
</ exanpl e>



<exanpl e xsi:type="EN' use="C'>

<part
<part

type="GA V' val ue="Wody" />
type="FAM' val ue="Smth" />

</ exanpl e>

<exanpl e xsi:type="EN' use="OR'>

<part
<part
<part

type="G V' val ue="Wy" />
type="d V' val ue="Dung" />
type="FAM' val ue="Nguyen" />

</ exanpl e>

<exanpl e xsi:type="EN' use="C'>

<part type="G V' val ue="Dennis" />
<part type="FAM val ue="Nguyen" />
</ exanpl e>

<exanpl e xsi:type="EN' use="OR C'>

<part
<part
<part

type="GA V' val ue="G ahane" />
type="G V' val ue="David" />
type="FAM' val ue="Grieve" />

</ exanpl e>

<exanpl e xsi:type="EN' use="P">

<part

type="GA V' val ue="Junior" />

</ exanpl e>

<exanpl e xsi:type="EN' use="OR C'>

<part
<part
<part
<part
<part
<part
<part

type="TITLE" value="Dr" />

type="A V' val ue="John" />

type="G V' val ue="Paul " />

type="FAM' val ue="Jones" />

type="TI TLE" qualifier="SFX" value="II11" />
type="DEL" val ue=", " />

type="TITLE" qualifier="AC' val ue="PhD"' />

</ exanpl e>

<exanpl e xsi:type="EN' use="OR C'>

<part type="G V' value="Mary Jane" />
<part type="FAM' val ue="Contrata" />
</ exanpl e>

<exanpl e xsi:type="EN' use="OR C'>

<part
<part
<part

type="GA V' val ue="Karen" />
type="FAM' val ue="Van" />
type="FAM' val ue="Hentenryck" />

</ exanpl e>

<exanpl e xsi:type="EN' use="OR C'>

<part
<part
<part

type="G V' val ue="Sel by" />
type="FAM' qualifier="SP" value="Butt" />
type="FAM' val ue="Beel er" />

</ exanpl e>



<exanpl e xsi:type="EN' use="OR OLD'>
<part type="dA V' val ue="Mary" />
<part type="FAM qualifier="CL" val ue="Sel by" />
<part type="FAM' val ue="Butt" />
</ exanpl e>

<exanpl e xsi:type="EN' use="OR A OLD"'>
<part type="G V' val ue="Jacqueline " />
<part type="G V' val ue="Janette" />
<part type="G V"' value="Patricia" />
<part type="FAM' val ue="Canpbell" />
</ exanpl e>

<exanpl e xsi:type="EN' use="P OLD'>
<part type="G V' value="Ruth" />
<part type="FAM' val ue="Brinkman" />
</ exanpl e>

<exanpl e xsi:type="EN' use="P OLD'>

<part type="G V' value="Ruth" />

<part type="FAM qualifier="SP" value="Gieve " />
</ exanpl e>

<exanpl e xsi:type="EN' use="OR'>
<part type="G V' val ue="Jacqueline" />
<part type="G V' val ue="Janette" />
<part type="G V' value="Patricia" />
<part type="FAM' value="Gieve" />
</ exanpl e>

<exanpl e xsi:type="EN' use="C'>
<part type="G V' val ue="Jacque" />
<part type="FAM value="Gieve" />
</ exanpl e>

<exanpl e xsi:type="EN' use="C OLD'>
<part type="G V' val ue="Jacque Ruth" />
<part type="FAM' value="Grieve" />

</ exanpl e>

<exanpl e xsi:type="EN' use="M>
<part type="FAM val ue="Brinkman " />
</ exanpl e>

<exanpl e xsi:type="EN' use="OR OLD'>
<part type="G V"' qualifier="BR' val ue="Del - Roy" />
<part type="FAM' qualifier="BR' val ue="Burgess" />
</ exanpl e>

<exanpl e xsi:type="EN' use="P">
<part type="G V' val ue="Yor-Led" />
<part type="FAM' val ue="Ssegrub" />
</ exanpl e>



<exanpl e xsi:type="EN' use="OR ABC OLD'>
<part type="GA V' qualifier="AD PFX" val ue="Abdul" />
<part type="DEL" val ue="-" />
<part type="G V' qualifier="AD SFX" val ue="Malik" />
<part type="FAM' qualifier="AD" val ue="Shakir" />
</ exanpl e>

<exanpl e xsi:type="EN' use="OR ABC C'>
<part type="G V' qualifier="AD" val ue="Abdul Malik" />
<part type="FAM qualifier="AD" val ue="Shakir" />
<part type="TITLE" value="Sr" />
</ exanpl e>

<exanpl e xsi:type="EN' use="P DN'>
<part type="G V' qualifier="AD" val ue="Abdul" />
</ exanpl e>

<exanpl e xsi:type="EN' use="P">
<part val ue="AM5" />
</ exanpl e>

ISO INT - Integer

ANY

arr

+ expression: ED[0..1]
+ onginsMext: ED.TEXT [0..1]

+ uncersinty: QTY [0..1]

+ uncersintyType: UnceraintyTyps
- uncersinRange: IVL{@TY)

comparable(QTY) : BL
isDifference(QTY) : Bookean

i

INT

R

+ valus: Integer [0..1]

+INT) : INT

JREAL) : REAL

R

sbs() : INT

div{INT) : INT

mod(INT) : INT I
max{INT) : INT INTPOS B
min{INT} : INT

comparsble(@TY) : BL

<exanpl e xsi:type="INT" val ue="23"/>
<exanpl e xsi:type="INT" null Fl avor =" NASK"/ >



ISO CO - Coded Ordinal

(R

+ code: CD[D..1]
+ walue: Decimal [0..1]

ANY
ary

<exanpl e xsi:type="CO"' val ue="1">
<di spl ayNane val ue="Poor"/>

</ exanpl e>

ISO REAL - real

class REAL

REAL
+ value Decimal [0.1] arv
T emmen 200.1]
+ onginaext £EDTEXT[0.1] LT
+ uncertainty QTY[0.1] A
% neetangTyee UnzermintTips = =

[0.1]
dsteMode [0.1]

©

SANY) BL
+ isNullg :Boolean
+_nonNully Boolean

<val ue xsi:type="REAL" val ue="0.36"/>

<exanpl e xsi:type="REAL" val ue="23.0005"/>

<exanpl e xsi:type="REAL" val ue="23.00"/>

<exanpl e xsi:type="REAL" val ue="23" uncertaintyType="N'>
<uncertainty xsi:type="REAL" val ue="0.87" />
</ exanpl e>

ISO RTO - Physical quantity interval

a0

arv

expression ED[0..1]
originalText -ED.TEXT[0..1] o]
uncertsinty QTY [0..1] ANY

DR

R1O

+ flavorld :String .1

pof* relFtever iRz 1)

pd = Updstellode [0.1]

+ denominator QTY [0.1])

YA [

+ compares(@TY) L

+ equals(ANY) :BL
+ Nullf) Baolean
+_nonNull) :Boolean

L




<val ue xsi:type="RTO' >

<nurer at or xsi:type="REAL" val ue="1"/>
<denomi nat or xsi:type="REAL" val ue="3"/>

</ val ue>

<exanpl e xsi:type="RTO >

<nurer at or xsi:type="MJ'" val ue="103. 00" currency="USD"'/>
<denomi nator xsi:type="PQ" value="1" unit="day"/>

</ exanpl e>

ISO PQ - Physical Quantity

shssPa /

avor [0.1]
Usdateode [0.1]

POR

DoV

+ wiue Decmal[0.1]

<val ue xsi:type="PQ"' val ue="3.5" unit="/pL">
<ori gi nal Text medi aType="t ext/plain" val ue="3.5"/>
<transl ati on code="x10*12/L" codeSyst emNanme="1SO+" val ue="3.5"/>

</ val ue>

<val ue xsi:type="PQ" val ue="8" >
<transl ati on code="xxx138901" codeSystemName="SNOMVED- CT" val ue="8">
<di spl ayNane val ue="capsul es" />
</transl ation>

</ val ue>

<exanpl e

<exanpl e

<exanpl e

<exanpl e

Xsi

XSi

XSi

XSi

rtype="PQ'
(type="PQ
rtype="PQ
(type="PQ

<exanpl e xsi:type="PQ'
<transl ati on codi ngRati onal e="O' val ue="0.0011" codeSysten¥"
2.16.840. 1.113883. 19. 10" code="grans/litre" />

</ exanpl e>

val ue="1" unit=

9" />

value="1" unit="mmol /1" />

val ue="1" unit="mmol " />

value="1.1" unit="nmg/ nmL."/>

val ue="1.1" unit=" n'g/ m" codi ngRati onal e="R'>

<exanpl e xsi:type="PQ' unit="1">
<uncert ai nRange>
<l ow xsi:type="PQ" value="1" />
<hi gh xsi:type="PQ" val ue="2" />



</ uncert ai nRange>
</ exanpl e>

<exanpl e xsi:type="PQ'
<expressi on nedi aType=

<xm >

<coefficient val ue="30"

nul | Fl avor =" DER"

uni t="nL">

"application/hl7-factor+xm ">

uni t="nL/kg" />

<factor val ue="bodyMass" />

</ xm >
</ expr essi on>
</ exanpl e>

ISO MO - monetary amount

ANY

ary

P

N

MO

+ walue: Decimal [0..1]
cumency: Code [0..1]

+{MO) - MO

-[MO) - MO

*[REAL) : MO

H[REAL) : MO
max(M3) - MO
min{MC) : MO
comparable(QTY) : BL

O T N N

<exanpl e xsi:type="MJ" val ue="42"

ISO TS - TimeStamp

currency="AuUD"/ >

dassTs /

s

+ \alue :Sting[0..1]

+ TS
+ tointarvall) V(TS|

Any

+ flavaria :String [0.1
+ nullFlaver -NullFlaver [0.1]
ode -Updatehode 0. 1]

<sent_datetinme

<exanpl e xsi:type="TS"
<exanpl e xsi:type="TS"
<exanpl e xsi:type="TS"
<exanpl e xsi:type="TS"
<exanpl e xsi:type="TS"

xsi:type="TS" val ue="20110218101133+1000"/>

val ue="19750621"

updat eMbde="R"/ >

nul | Fl avor="NI" updat eMbde="D"/>

nul | Fl avor="NI" updat eMode="R"/>

nul | Fl avor="Nl" updat eMode="K"/>

val ue="20031101234511+0500"/ >



<exanpl e xsi:type="TS" val ue="1945"/>

ISO Collection Datatypes

150 DataTypes

m
susTm
sLiSTM

ISO DSET - discrete set

<exanpl e xsi:type="DSET_| NT">
<item val ue="3"/>

<item val ue="6"/>

<item val ue="9"/>

<item val ue="11"/>

</ exanpl e>

<exanpl e xsi:type="DSET_| NT">
<item val ue="11"/>

<item val ue="6"/>

<item val ue="9"/>

<item val ue="3"/>

</ exanpl e>

<sTEL xsi:type="DSET_TEL">

<itemval ue="tel:+11015551234" use="H' capabilities="voice" />
<item val ue="tel : +11995556787" use="MC' capabilities="voice sns" />
<itemval ue="tel : +11015551235" capabilities="fax" />

<item val ue="nmai |l t o: exanpl e@xanpl e. cont’ />

</ sTEL>

<sTEL xsi:type="DSET_TEL">

<item val ue="tel : +11015551234" use="H' capabilities="voice" updateMde="D"
/>

<itemval ue="tel : +12315559876" use="H' capabilities="voi ce" updateMde="A"
/>

</ sTEL>

<sTEL xsi:type="DSET_TEL">

<item val ue="tel : +12315559876" use="H' capabilities="voi ce" updateMde="R'
/>

</ sTEL>

<sTEL xsi:type="DSET_TEL">
<item value="tel:+11015551234" use="H' capabilities="voice" updateMde="D"
/>



<itemvalue="tel:+ 11015551234" use="H WP" capabilities="voice fax"
updat eMbde="A" />
</ STEL>

<sTEL xsi:type="DSET_TEL">

<itemvalue="tel:+ 11015551234" use="H WP" capabilities="voice fax"
updat eMbde="R" />

</ sTEL>

<sll xsi:type="DSET_II1">

<itemroot="2.16.840.1.113883.19.5. 971" extension="763491" reliability="
VRF" scope="0BJ" />

<itemroot="2.16.840.1.113883. 19.5. 972" extensi on="351324" reliability="
VRF" scope="VER' />

<i tem r oot =" 0282CA34- 2EAE- 4B9D- 82A5- BD2BF8497940" reliability="1SS" scope="
vwW />

</sll>

<SREAL xsi :type="DSET_REAL">
<itemvalue="3.1" />
<itemvalue="3.5" />

</ sREAL>

ISO BAG - bag

<exanpl e xsi:type="BAG TEL">

<item val ue="tel : +15556667777" use="H'/>
<item nul | Fl avor =" UNK" use="WP"/>

</ exanpl e>

<exanpl e xsi:type="BAG TEL">

<item nul | Fl avor =" UNK" use="WP"/>

<item val ue="tel : +15556667777" use="H'/>
</ exanpl e>

ISO LIST - Sequence

<val ue xsi:type="LIST_INT">
<val ue val ue="-7"/>
<val ue val ue="-7"/>
<val ue val ue="-8"/>
<val ue val ue="-8"/>
<val ue val ue="-9"/>
<val ue val ue="-9"/>
<val ue val ue="-9"/>
<val ue val ue="-7"/>
<val ue val ue="-7"/>
<val ue val ue="-8"/>
<val ue val ue="-8"/>
<val ue val ue="-9"/>
<val ue val ue="-9"/>
<val ue val ue="-9"/>
</ val ue>

<exanpl e xsi:type="LIST_I NT">
<item val ue="3"/>
<item val ue="11"/>
<item val ue="6"/>



<item val ue="9"/>
</ exanpl e>

ISO GLIST - generated sequence

<exanpl e xsi:type="GLI ST_PQ' period="100" denom nator="100">
<head val ue="0" unit="V"/>

<increnment xsi:type="PQ' value="1" unit="nV"/>

</ exanpl e>

<exanpl e xsi:type="GLI ST_TS" denom nator="1">
<head val ue="20020729203000"/ >

<increnent xsi:type="PQ" val ue="100" unit="us"/>
</ exanpl e>

ISO SLIST - sampled sequence

<exanpl e xsi:type="SLI ST_PQ'>
<origin value='0" unit="uv />
<scal e xsi:type="PQ' value="2.5" unit="uv />
<digit value="-4"/>
<digit value="-13"/>
<digit value="-18"/>
<digit value="-18"/>
<digit value="-18"/>
<digit value="-17"/>
<digit value="-16"/>
<digit value="-16"/>
<digit val ue="-16"/>
<digit value="-16"/>
<digit value="-16"/>
<digit value="-17"/>
<digit value="-18"/>
<digit value="-18"/>
<digit value="-1"/>
<digit value="-17"/>
<digit val ue="-16"/>
<digit value="-16"/>
<digit value="-16"/>
<di git val ue="-15"/>
<digit value="-13"/>
<digit value="-11"/>
<di git val ue="-10"/>
<digit val ue="-10"/>
<digit value="-9"/>
<digit value="-6"/>
<digit value="-4"/>
<digit value="-5"/>
<digit value="-5"/>
<digit val ue="-3"/>
<digit value="-2"/>
<digit value="-2"/>
<digit value="-1"/>
<digit value="1"/>
<digit value="2"/>
<digit value="3"/>
<digit value=""/>
<digit value="7"/>
<digit value="8"/>
<digit value="9"/>
<digit val ue="10"/>
<digit value="11"/>
<digit value="12"/>
<digit value="13"/>



<di git
<digit
<di gi t
<digit
<digit
<digit
<digit
<di git
<di git
<digit
<di gi t
<digit
<digit
<digit
<digit
<di git
<di gi t
<digit
<di gi t
<digit
<digit
<digit
<digit
<digit
<digit
<digit
<di gi t
<digit
<digit
<digit
<digit
<digit
<digit
<digit
<di gi t
<digit
<digit
<digit
<digit
<digit
<digit
<digit
<di gi t
<digit
<digit
<digit
<digit
<digit
<digit
<digit
<di gi t
<digit
<digit
<digit
<digit
<digit
<digit
<digit
<di gi t
<digit
<digit
<digit
<digit
<digit
<digit
<digit
<di gi t
<digit
<digit
<digit
<digit

val ue="15"/>
val ue="17"/>
val ue="19"/ >
val ue="21"/>
val ue="23"/>
val ue="25"/>
val ue="27"/>
val ue="29"/>
val ue="30"/ >
val ue="30"/>
val ue="31"/>
val ue="34"/>
val ue="37"/>
val ue="40"/>
val ue="43"/>
val ue="45"/>
val ue="4"/>

val ue="46"/>
val ue="46"/>
val ue="46"/>
val ue="46"/>
val ue="47"/>
val ue="49"/ >
val ue="51"/>
val ue="53"/>
val ue="55"/>
val ue="57"/>
val ue="59"/ >
val ue="60"/>
val ue="59"/ >
val ue="58"/>
val ue="58"/>
val ue="58"/>
val ue="57"/>
val ue="56"/>
val ue="56"/>
val ue="56"/>
val ue="57"/>
val ue="57"/>
val ue="5"/>

val ue="53"/>
val ue="50"/ >
val ue="47"/>
val ue="45"/>
val ue="74"/>
val ue="51"/>
val ue="38"/>
val ue="33"/>
val ue="31"/>
val ue="28"/>
val ue="25"/>
val ue="21"/>
val ue="16"/>
val ue="14"/>
val ue="15"/>
val ue="13"/>
val ue="9"/>

val ue="7"/>

val ue="4"/ >

val ue="1"/>

val ue="-1"/>
val ue="-3"/>
val ue="-4"/>
val ue="-6"/>
val ue="-10"/>
val ue="-12"/>
val ue="-13"/>
val ue="-12"/>
val ue="-12"/>
val ue="-17"/>
val ue="-18"/>



<digit val ue="-18"/>
<digit value="-18"/>
<digit value="-19"/>
<di git val ue="-20"/>
<digit value="-21"/>
<digit value="-20"/>
<di git val ue="-20"/>
<digit val ue="-20"/>
<digit val ue="-20"/>
<digit value="-2"/>

<digit value="2"/>
<digit value="1"/>
<digit value="0"/>
<digit value="0"/>
<digit value="0"/>
<digit value="1"/>
<digit value="2"/>
<digit value="2"/>
<digit value="1"/>
<digit value="1"/>
<digit value="1"/>
<digit value="0"/>
<digit value="-1"/>
<digit value="0"/>
<digit value="1"/>
<digit value="1"/>
<digit value="1"/>
<digit value="1"/>
<digit value="2"/>
<digit nullFlavor="UNK"/>
</ exanpl e>

ISO HIST - history

<exanpl e xsi:type="Hl ST_TEL">

<item nul | Fl avor ="UNK" use="WP H' val i dTi meHi gh="199206"/>
<item val ue="tel : +15552225543" use="H' val i dTi neLow="199206"
val i dTi meH gh="199207"/>

<item val ue="tel : +15556667777" use="H' val i dTi neLow="199207"/ >
</ exanpl e>

ISO QSET - Continuous set datatypes

150 DataTypes

cantert GSET
-1 inv "o History or Update Made®: noUpdateOrHistoryCeriginalText)

L High
sNothull implies high isHothull and highClosed

ot Lo a<llzLindefined and LowClozed.oollUndefined

wLwieTH [y



QSET is an abstract type. a working QSET is specified as an expression tree built using a combination of
operator (QSI,QSD,QSU,QSP) and component types (QSC, QSS and IVL; and for TS, PIVL and EIVL).

<exanpl e xsi:type="QSI _TS">
<term xsi:type='"PIVL_TS alignnment="DW >
<phase | owd osed='true' hi ghd osed='fal se' >
<l ow val ue='20001202' / >

<hi gh val ue=' 20001203' / >

</ phase>

<period value="2" unit="wk'/>
</ternw

<term xsi:type='IVL_TS |owC osed="'true' highd osed='fal se'>
<l ow val ue='20020101' / >

<hi gh val ue='20040101'/ >
</ternp

<term xsi:type=' QGSP_TS' >

<l ow xsi:type="QSI _TS">
<term xsi:type='"PIVL_TS >
<phase hi ghCl osed="'fal se' >

<l ow val ue='19870525"' / >

<hi gh val ue=' 19870601' / >

</ phase>

<period value="1" unit="a'/>
</ternp

<term xsi:type='PIVL_TS >
<phase hi ghCl osed='fal se' >

<l ow val ue='19870105' / >

<hi gh val ue='19870106' / >

</ phase>

<period value="1" unit="wk'/>
</ternp

</l ow>

<hi gh xsi:type="QSI _TS">
<term xsi:type="PIVL_TS >
<phase hi ghCl osed="'fal se' >

<l ow val ue='19870901' / >

<hi gh val ue='19870908' / >

</ phase>

<period value="1" unit="a'/>
</ternp

<term xsi:type='PIVL_TS >
<phase hi ghCl osed='fal se' >

<l ow val ue='19870105' / >

<hi gh val ue='19870106' / >

</ phase>

<period value="1" unit="wk'/>
</ternp

</ hi gh>

</ternvp

</ exanpl e>

<exanpl e xsi:type='QSS_TS >
<t erm val ue='20071101'/ >

<t erm val ue=' 20071106' / >

</ exanpl e>

<exanpl e xsi:type='Q8C TS >
<code code="JHCHRXMS" codeSysten¥"2.16.840.1.113883.5.1022"/>
</ exanpl e>



ISO IVL_QTY - Interval

TiaTy
WL TiQry T
« any T QSET Any
= Migh T 10.1] + favorid :Sting [0.1]
+ highClosed :Boolean [0.1] + originalText £DTEXT [0.1]  nuliFlsvor NullFiavor [0.1]
1 —>
@ D AarE + updateld ode :Updatel ode [0..1]
+ lowClosed :Boolean (0..1] + containsT) BL
+ vidth -QTY [0.1) + hUI@SET () VLE) T eaualsANT) BL
- + ishull) -Boolean
centerg T + _nonNull) Boolean
Pa
+ codingRationale :Sef(CodingRationale)
+ tmnsation :SeiPaR)
+ unit :Code [0.1] ary
+ valuz Decimal [0.1] S e
0 + originalText ED.TEXT [0.1]
A = unceriainty :QTY [0.1]
+ POy
2 g + uneeraintyType UnceraintyType
+ *REAL) PQ T ot arv
+ 1PQ) 0 I lorn o
+ IREAL) :PQ L <am B
> o + <@TY BL
<0 + >(QTY) BL
+ canonicalp PQ 1 et 8L
+ compares@TY) :BL 1 compareanTY) A
+ inveried() :PQ & 0
e L iiflerence (TY) :Boolean
+ minPQ) PQ
+ tolntewal) VLPQ)

class VL REAL

T-an
Toary

wL @

= any T aser

* high T10.1

+ nignCiosed Boolean[0.1]] —[>f+ originalText EDTEXT [0..1]

+ low T.1

+ lowClosed Boolean [0..1] + cantains(T) BL

+ widtn QTY[0.1] + hll @SET(TH MLT)

Any
+ flavorld :String [0..1]

+ nullFlaver :NullFlavar [0..1]

+ updatellode Updatelods [0.1]

REAL

+ value :Decimal [0.1] arr

expression :ED[0.1]
ariginalText ED.TEXT [0.1]
uneerainty :QTY [0..1]
unceriaintyType :UncertaintyType.

centerf) T \ —
|

R

<val ue xsi:type="1VL_QTY" |owd osed="true" highC osed="true">
<l ow xsi:type="PQ' val ue="26.5" unit="pg"/>

<hi gh xsi:type="PQ' val ue="33" unit="pg"/>

</val ue>

<val ue xsi:type="IVL_QTY" hi ghd osed="fal se">

<ori gi nal Text val ue="<”0.1"/>

<hi gh xsi:type="PQ" val ue="0.1" unit="/nL">

<transl ation code="x10*9/L" codeSyst emNanme="1SO+" val ue="0.1"/>
</ hi gh>

</val ue>

<val ue xsi:type="IVL_QTY" | owd osed="true" highCd osed="true">
<ori gi nal Text val ue="~50.0"-"55.0"/>

<l ow xsi:type="PQ" val ue="50.0" unit="9%>

<transl ation code="% codeSystenNane="1SO+" val ue="50.0"/>
</l ow>

<hi gh xsi:type="PQ" val ue="55.0" unit="%>

<transl ation code="% codeSystenNane="1SO+" val ue="55.0"/>

</ hi gh>

</val ue>

<val ue xsi:type="IVL_QTY" | owd osed="true">

<ori gi nal Text nedi aType="appl i cation/x-hl 7-SN' val ue=">="0.5">
<description | anguage="en" value="Original HL7 SN field value"/>
</ ori gi nal Text >

<l ow xsi:type="PQ" value="0.5" unit="/nL">



<transl ati on code="x10*9/L" codeSystenNane="|SO+" val ue="0.5"/>
</l ow>
</ val ue>

<val ue xsi:type="1VL_QIY" |owd osed="true" highC osed="true">
<ori gi nal Text nedi aType="application/x-hl 7-SN" val ue=""50. 0"-~55. 0" >
<description | anguage="en" value="Original HL7 SN field value"/>
<transl ati on nedi aType="application/x-hl 7-segrment"” val ue="0BX| 11| SN| 770-
8"Neut r ophi | s"LN*271035003"*"SCT| 1. 1. 9. 1| ~50. 0"-~55. 0| %" SO+| | | | | F* >
<description | anguage="en" val ue="Original HL7 Segment"/>
</transl ati on>

</ ori gi nal Text >

<l ow xsi:type="PQ"' val ue="50.0" unit="%/>

<hi gh xsi:type="PQ" val ue="55.0" unit="9%/>

</ val ue>

<val ue xsi:type="I1VL_QIY" |owd osed="true" highC osed="true">
<ori gi nal Text val ue="0.37-0.47"/>

<l ow xsi :type="REAL" val ue="0.37">

<ori gi nal Text val ue="0.37"/>

</l ow>

<hi gh xsi:type="REAL" val ue="0.47">

<ori gi nal Text val ue="0.47"/>

</ hi gh>

</ val ue>

<val ue xsi:type="IVL_QTY" hi ghC osed="fal se">
<ori gi nal Text val ue="<70.36"/>

<hi gh xsi:type="REAL" val ue="0.36"/>

</ val ue>

ISO IVL_INT - Integer Interval

<exanpl e xsi:type="IVL_I NT' >
<l ow val ue="2"/>

<hi gh value="4"'/>

</ exanpl e>

ISO IVL_PQ - Integer Interval

<exanpl e xsi:type='1VL_PQ |owd osed='true' highC osed='fal se'>
<l ow value="2.8" unit="n/>

<hi gh value="4.6" unit="m/>

</ exanpl e>

ISO IVL_TS - Timestamp Interval

<exanple xsi:type="IVL_TS >
<l ow val ue=' 200012041000' / >
<hi gh val ue=' 200012041030' / >
</ exanpl e>

<exanpl e xsi:type="IVL_TS" | owC osed="true" highCl osed="fal se">
<l ow val ue="19450101000000. 0000"/ >

<hi gh val ue="19460101000000. 0000"/ >

</ exanpl e>



<exanpl e xsi:type="IVL_TS" | owd osed="true" highC osed="fal se">
<l ow val ue="20020101" />

<hi gh val ue="20040101" />

</ exanpl e>

ISO PIVL - Periodic Interval

<exanpl e xsi:type='PIVL_TS isFlexible="true >
<period value="12" unit="h'/>
</ exanpl e>

<exanpl e xsi:type='PIVL_TS isFlexible="true >
<frequency>

<numer ator xsi:type="INT" val ue='2'/>
<denom nat or xsi:type="PQ' value="1" unit="d'/>
</ frequency>

</ exanpl e>

<exanpl e xsi:type='PIVL_TS isFlexible="true >
<frequency>

<numer ator xsi:type="INT" value='7'/>
<denom nat or xsi:type="PQ' value="1" unit="d'/>
</ frequency>

</ exanpl e>

<exanpl e xsi:type='PIVL_TS isFlexible="true >
<period val ue=' 3.4285714285714285714285714285714"' unit="h'/>
</ exanpl e>

<exanpl e xsi:type='PIVL_TS >

<phase>

<wi dth xsi:type="PQ' value="10" unit="mn'/>
</ phase>

<period value='"12" unit="h'/>

</ exanpl e>

<exanpl e xsi:type='PIVL_TS' alignment="M">

<phase hi ghCl osed="true' |owd osed='fal se'>

<l ow val ue='198709' / >

<hi gh val ue='198710'/>

</ phase>

<period value="1" wunit="a'/> <! — a nmeans year in UCUM -->
</ exanpl e>

<exanpl e xsi:type='PIVL_TS alignnent="DW >
<phase hi ghCl osed="true' |owd osed='fal se'>
<l ow val ue='20001202' />

<hi gh val ue='20001203"' />

</ phase>

<period value='2" unit="wk'/>

</ exanpl e>

<exanpl e xsi:type='PIVL_TS >
<period value="5" unit="h" uncertaintyType='U >
<uncertainty value='0.57735" unit="h'/>



</ peri od>
</ exanpl e>

ISO EIVL - Event-Related Periodic Interval of Time

<exanpl e xsi:type='EIVL_TS event='CM >
<of f set >

<low value="-1" unit="h'/>

<hi gh value="-50" unit="mn'/>

</ of f set>

</ exanpl e>

<exanpl e xsi:type='EIVL_TS event='CV >
<of f set >

<l ow val ue="30" unit="mn'/>

<hi gh value="30" unit="mn'/>

</ of f set>

</ exanpl e>

ISO Uncertainty datatypes

lass Uncertainties

150 DataTypes.

wero I

.| context D
v "must have atlesst an item® &Nl xor item->notEmpty

+ dem: SeHUVP() [

Nothull
(probability.ocllsDefined and prob ability = 0 and probability <= 1)
Fistangeatus)

ISO UVP - Uncertain value - probabilistic

<exanpl e xsi:type="NPPD_CD'>

<item xsi:type="UVP_CD' probability="0.5">

<val ue code="22760-3" codeSysten¥"2.16.840.1.113883.6.1">
<di spl ayNanme val ue="Pot assi um Ser Pl - nCnc" />

</ val ue>

</itenp

</ exanpl e>

ISO NPPD - Non-parametric probability distribution

<exanpl e xsi:type=' NPPD_ST' >
<item probability="0.1">
<val ue val ue="Yankees"/ >
<litenvp

<item probability="0.04">
<val ue val ue="Red Sox"/>
<litenvp

<item probability="0.05">
<val ue val ue="Wite Sox"/>
</itenvp

<item probability="0.08">
<val ue val ue="Indi ans"/ >
</itenp

<item probability="0.05">
<val ue val ue="Ti gers"/>
</[itemp

<item probability="0.07">
<val ue val ue="Mari ners"/>
</itenw



<item probability="0.02">
<val ue val ue="Royal s"/>
</itenv

<item probability="0.06">
<val ue value="Orioles"/>
<litenp

</ exanpl e>
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